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0000000000000, 000G=(V,AODODDOOODDOOo 20 st,s~ 0000
O00,000,00ec AD0DDOOCOOO0OODODOOOO0O0O0OOOCOOOO0O0O0 c¢(a)
0000000000000, 000000000000 N = (G =(V,A),s*,s,¢)0
O00.0000st0 s 0000000 (sourceentrance), 00O (sink, exit) 00000 .

021: 0 21e0,00000000000.0

1/2 b

(a) DOOO0O0OO N=G=V,A),s+s5,0 (b) ¢(a)/c(a)
O021: 0000000000000

000000 N =(G=(V,A),s",s",0)00000 (low) 00,000 (i),i)000
000000000000 ¢:A—ROOOOOO.

() 0000:00acAD0D0OO
0 < p(a) < c(a). (2.25)
(i) 00000 (000000000): O0veV\{st,s }0000O

dp(v) = 0. (2.26)



oo, 0dveVooog
dpv) = Y pla)— > ¢la) (2.27)
acdtv a€d~ v

O00000,00:V —-ROODO0O OO0 (boundary) DOOOO.
0220 210b)0¢0,0 21(¢)000000C0O0O0O0OO0OODOO.DO

5ty

O v
0 22:. 000000

goooooooao,
dp(s") = —dp(s™) (2.28)

O0000. (228)000000 000 (value, flow value) 000, v*(p) D0 O0OOO
ggd.

023 0 210)0000 0000,50000.

DD000000000N =(G=(V,A),s*,s,c) 0000, NOOODOD o000
00 v (p) 00000000000000000 (000) (maximum flow) 000, 00
00000000000000000 (maximum flow problem) 00O .

U 2300b0000buogooaobo-bobbooboobboobboobo. g
gobo,dgdobooooogobobuoogobboooooooboooag.

DD0000N = (G=(V,A),s*,s,0)00000 000000000, 000
000000000 (auxiliary network) N, = (G, = (V, A,),st,s7,¢,) 00, 0000
O0000000.000 4,0,

A, = ATUAZ, (2.33)
AY ={ala € A, p(a) < c(a)} (2.34)
A, ={ala€ A,0< p(a)} (a:a0000D0) (2.35)

O00000,0000c¢:4, -ROODOOOO0O0O0O0O0OO.

cla) —pla) ifac ATOOO,
c¢(a):{ (,> ela) it AfDDD (2.36)

v(a) ifa€ A :
024 0 2400 25000000000000000O0DO. D0000O0O0OOG60
gd. o



1 p(a) — 0 (a € A).
22 00000000N,000.

3: for NV, 00 st00 s~ 000000 POOOOO do

4:  d «— min{c,(a) |a € P}.

5 for POOO 0000 do

6 ifaDA;DD then

T ¢(a) — ¢(a) +d.

8 elseif a0 AJ 00 then

9 p(a) — ¢(a) — d.

10: end if

11:  end for

12: DDDDDDDDNWDDDDD.
13: end for

g 23 0000-00000000000000
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